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01.

02.

03.

04.

Section - 1

English

Choose the correct pair of homophones to get meaningful sentence.
He me a mail and told there is a gift parcel of bottles.
(1) sent, scent (2) sent, saint (3) send, sand (4) get, gate

Read the following and find out the number of imperative sentences in it.

Come here
What happened?

Tell me all
I will not punish you

Write all on this paper.
() 2 2) 4 3 3 @ 1

Choose two Correct options.

Avoid too much use of mobile phones and

(1) Save home (2) Save your time

(3) Save earth (4) Be safe from eye problems

Read given advertisement and choose correct option.

P.V. J's Urja School, Nanded
Wanted
Post - Science Teacher
Qualification - B.Sc., B.Ed.
Apply before 15t June 2023
Secretary

The advertisement is given for the post of .
(1) Principal (2) Clerk (3) Teacher (4) Peon

SPACE FOR ROUGH WORK
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06.

Last date of application is .
(1) 15% April 2023 2) 15 March 2023
(3) 15% June 2022 4) 15" June 2023

Complete the sentence by using the correct form of verb to get Simple Future

Tense.
You good marks.
(1) will get (2) got (3) are getting (4) 1is get

Q. 07 & Q. 08 Instructions -

07.

08.

Read the passage and choose the correct alternative.

The famous physics professor Stephen Hawking has warned that
mankind is facing the most dangerous time in its history today. He
said that the world today is facing huge challenges like climate change,
overpopulation, epidemic diseases. “We have the technology to destroy
the planet on which we live and have not yet developed the ability to
escape it. Perhaps in a few hundred years from now, we will have built
colonies amid the stars, but right now, we have only one planet and we
need to work together to protect it.”

We have the technology to destroy the , according to Hawking.
(1) Aircrafts (2) Space (3) Planet (4) Tank

Choose incorrect alternative to complete the following diagram.
World's Todays Challenges

l l l l

(1) Overpopulation (2) Epidemic (3) Robbery (4) Climate
diseases Change

SPACE FOR ROUGH WORK
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09. Choose the correct alternative.

It is 5 to 11 o'clock, the school bell will ring after twenty minutes that means

at o'clock.
(1) quarter past Eleven (2) quarter to Eleven
(3) quarter past Twelve (4) 11 o'clock

10.  Given below are words. Choose correct alternative which is of positive degree.

Shakuntal good Sanskrit

(1) Shakuntal is better than any other drama in Sanskrit.
(2) Shakuntal is the best drama in Sanskrit.

(3) No other drama in Sanskrit is as good as Shakuntal.
(4) Shakuntal is the best than any other drama in Sanskrit.

11.  Choose the correct alternative to explain the underlined phrase.

Akash was so active and enthusiastic, he always did his homework

in a jiffy.
(1) Very Soon (2) Hurriedly
(3) Neatly (4) Slowly

12.  Choose the correct alternative for the underlined word.

When I met my grandmother after long time, we recollect my
childhood moments.

(1) Present Situation (2) Future Plans

(3) Every Activity (4) Remembering the past

SPACE FOR ROUGH WORK
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Q. 13 to Q. 15 Instructions -
Read the passage and answer the questions.

Sushruta was indeed a bright student of veterinary medicine. His
teacher, Shalihotra, once decided to test him.

He asked Sushruta what all he would need to perform a surgery on
a wonderful horse. Sushruta, very quickly listed down all the instruments
and the medicines that would be needed.

“Three things are missing.” Shalihotra said.

Confused, Sushruta looked at him.

“I will give you a week to find them.” Shalihotra consoled.

Curious to find out what those three things were, Sushruta observed
his teacher carefully for the next one week.

Before operating the horse, Shalihotra observed every part of the
horse and then Sushruta found the first missing thing!

13.  Choose the correct alternative.
Sushruta was a .
(1) wveterinary doctor (2) bright student
(3) teacher (4) farmer

14. Choose the correct alternative.
What task Shalihotra gave to Sushruta
(1) To perform a surgery on a wonderful horse
(2) To find out three things
(3) To find out instruments
(4) To find out different medicines

15. Choose the correct alternative.
How long a period did Shalihotra allow to find the missing things?
(1) One day (2) Two weeks (3) A week (4) Month

SPACE FOR ROUGH WORK
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SRR 16. Choose the two correct options for the underlined word from the given

> % alternatives.

o oo This year there is a great loss for India that Popular singer Lata Mangeshkar

:8%“; passed away.
o o6 (1) Famous (2) Not known (3) Strong (4) Very well-known

B o 17.  Choose the correct alternative of Active voice for the following sentence.
o o6 My father was given a jeep by the government.
o % (1) The government give a jeep to my father.
o 08 (2) The government gave a jeep to my father.
(3) The government given a jeep to my father.
(4) The government will give a jeep to my father.

18.  Choose the correct alternative from the following to complete puzzle.

(Nle| [d]l]e]
a
S
t] [s]t]
1) o 2 N 3) p “4) e

19. Choose correct alternative to frame a meaningful question.
People / did / where / him / meet
(1) Where did people meet him? (2) Did people meet him where?
(3) Where did him people meet? (4) People meet him where did.

20. Choose the correct alternative for indirect speech.
“We are orphans”, they answered.
(1) They answered they were orphans.
(2) They answered that they were orphans.
(3) They answered that they are orphans.
(4) They answered that they are not orphans.

SPACE FOR ROUGH WORK

0422-Gujarati Set-A 6 of 32 Contd...



21.

22.

23.

24.

25.

Read the riddle and choose correct alternative.
What is the full of holes, but still holds water?
(1) Glass (2) Plastic (3) Iron (4) Sponge

The verb form of addition is

(1) Add (2) Added (3) Additional  (4) Addition

Choose the correct expression.
She died of hunger.
(1) Hey! (2) Bravo! (3) Oh! (4) Alas!

Read the following news and answer the questions by choosing correct option.

More Dinosaur Fossils found In Kutch
Ahmedabad, Feb 15, 2016 :

A team of Indian and German scientists working near Bhuj in the
Kutch region of Gujarat had found a big fossil of a dinosaur in a hill
in Lodai village. On Saturday, they found a few more fossils. The new
fossils include skull, jaw and some teeth of dinosaur. Their work of
excavation or digging very very carefully still goes on.

Name the village where a big fossil of a dinosaur found

(1) Kutch (2) Gujarat (3) India (4) Lodai

Find the number of nouns in the following sentence.
Avinash, Yash, Mona and Om yesterday came to Pune.

(1 2 2 5 3) 3 4) 4

SPACE FOR ROUGH WORK
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26.

SECTION - 11

INTELLIGENCE TEST

In the given table, in a code language symbols are used for the numbers.
Observe and find the symbols which will replace the question mark.

Numbers 0 1 2 3 4 S 6 7 8 9
Symbols | OV IN|TO | A | O|*%| A| @

From the given (‘+A—7§\’)v + (A)V+D—3§\’ = 7
(1 N 2 © 3 A 4 U

Q. 27 and Q. 28 Direction:

27.

28.

29.

30.

In a certain code language, figures are replacing letters.

AIR word is written as ACI@, RAN word is written as @AM, TRY word is
written as O @¥ then how is the word TAN is written in this code language?

(1) #o6oO 2) 0@ 3) OoAN 4 AOH

From the given code figures which symbols can form meaningful words.
(Select 2 correct options.)

(1) ANEO 2) @A (3) #AO (4) OO%

John was standing on a ground facing south direction. He started walking
straight in the same direction and walked 29 metres. Then he turned to his
right at right angle and walked straight for 17 metres. Again he turned to his
right at right angle and walked 8 metres, in the end he turned to his left in
right angle and walked 11 metres. At what minimum distance is he from his
original place?

(1) 36 m. (2) 34 m. (3) 35 m. (4) 37 m.

Sachin and Rahul participated in the running competition. Sachin said,
“My place in the line is 19" and ahead to me Rahul is at 4 place.” Rahul
said, “I am 9" from last.” From the given options find the correct statement.
(Select 2 correct alternatives.)

(1) 24 Participants are there in the competition.

(2) Sachin is 51 from the last.

(3) Rahul’s place is 161 in the line.

(4) Middle Participant’s place is 12th.

SPACE FOR ROUGH WORK
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26.

SECTION - II

1A TRE EL
VANAL dsAlHL Adval v Aislas Ral aual 9.

Hquy| 0 1 2 3 4 5 6 7 8 9

wsls ke || O |V IN IO | A |O| &% | A| @

dwdl (@+A-¥)Y = (A)V+O-% = 7
(1 N 2 O 3) A 4 U

U. 27 wid 28 HIZ YAl

27.

28.

29.

30.

s ABlAs L ‘san’ woe 432 93, ‘asel’ 2oe 321 9d Bld ‘sue’ Yot
152 4% avid 89, 6] 2isidl vid 2201 54 uHld ¢l o vig <l

‘Arols’ woe 3dl Zld quua?
(1) 2815 (2) 5843 (3) 5812 (4) 5814

il s uislds isiad wiEyel g0z oqdd? (ol 235 uuli ikl
(1) 434 (2) 1212 (3) 242 (4) 1315

s HeldHl odd el femi dlal 29 R 2uddl ol usl srmll ousy
Qoll si2sigiedl feawi «dlal 17 |z 2aedl. usgl g<lell ormell ousy adil siesil
[fauni 8 #l2z el 992 sloll ousy seesiol eawi aoll 11 4lex uedl dl
Adl Yozalddl d A9 291 524l »id ¢?

(1) 36 #l=2 (2) 34 #l= (3) 35 #l= (4) 37 #l=

AR 2id 2Acd €l 2ual QL dlal wRd sel, WRL s1 194 9 wid wil
P A Al Ad 9.7 A sel, ¢ acdl 9wl s1 9.7 dl 2uual
[Qaudinial 2125 [@Qad sa1?” (ol 2135 udi wdbe s30.)

(1) A zua™l 24 ovguat @1 dlal.

(2) Dacel SHL 2uds R 9.
(3) 2ucad 2ad 164 9.

(4) 9

4) 9l s 1241 sH 9.

s5d S1AL 514 W2
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31.

If in the year 2022 °‘Balika Divas’ falls on Monday, then in the same year
‘Kranti Day’ will be on which day?

(1) Monday (2) Tuesday (3) Sunday (4) Saturday

Q. 32 and Q. 33 Direction:

32.

33.

34.

In the given venn diagram, number of travellers of a city is given. Observe
the diagram and answer the questions given below.

Aeroplane Travellers— 17

/H Bus Travellers
9
> 11 |27

\21

How many travellers who travel by aeroplane are also travelling by bus ?

Railway Travellers

(1) 13 2) 4 3) 18 4 19
How many travellers are travelling by railway and not by aeroplane?
(1) 21 (2) 37 3) 32 (4) 46
If 9 x 17 =49, 13 x 31 = 100, 12 x 18 = 81 then find 14 x 4 = ?
(1) 81 (2) o4 3) 121 (4) 100

Q. 35 to Q. 39 Direction:

3s.

36.

There exists a certain relationship between 15t and 2™ term.
The same relationship exists between the 3™ and 4™ term. Considering this
select the alternative to replace the question mark.

Malgudi Days : R.K. Narayan :: Broken Wings : ?

(1) APJ Abdul Kalam (2) Arundhati Roy
(3) Sarojini Naidu (4) Vikram Seth
National Voters Day : 251 January :: Constitution Day : ?
(1) 26 November (2) 25" December
(3) 30™ January 4) 26% January

SPACE FOR ROUGH WORK
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=\ =\

31, ud 2022 Hi ‘oulast B4’ HMAR Sdl dl d o adui silaled sar [gad 2199?
(1) dHAR (2) #onar (3) 2Qar (4) aldar

U. 32 wid 33 W2 YuUl:

wudl dq vuslami wis adzdl uarilpidl dvar 2dl 9. [Rlaa s usidl
Gz Hl2 Ui uuld e s

[Qnd varl—{ 17

/H ol Uil
9
> I )27

eq uqual \ 21

32 [quuqgl ua iRl sedl vardlel odl wor uam 97

(1) 13 (2) 4 (3) 18 (4) 19
33. 2cqdl A AR uid [l U A4 RARL Al s2dl w97

(1) 21 (2) 37 (3) 32 (4) 46
34. o4 9x17=49, 13x31=100, 12x18=81 dl 14x4="7?

(1) 81 (2) 64 (3) 121 (4) 100

u. 35 4l 39 W2 yad:
UYY g id ollon ue 9’ oy Hold 9. ddl o dold dlon wid WYl ug AR

~ e

9. d fdldHl 49 UsAREd]l ovounl BAdl Ui uuid M.

35, ousd ;oA R i WER sl ;7
(1) aux onl (2) Al €d
(3) iRM €4 (4) [edlu =

36.  2Zla MdER (A ;25 oaeypiR]l ::ozdlQtq (sam 7
(1) 26 «dor (2) 25 [sedor (3) 30 oaeyRl  (4) 26 oa=y2iRl

s5d S1AL 514 W2
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S oo 37.  Question Figures:

O3 - ]

i SRV R ENNE JE- SN
O3 * =
o o6k Answer Figures:
T i 9 i+
ReS A‘I" ReS A‘I" =+ +| |+ ==
; : \a

(1 2) 3) (4)

38. 963 : 144 :: 842 : ? (Select 2 correct alternatives.)
(1) o4 2) 78 (3) 112 4) 50

39. LOH : PMT :: ITJ : ?
(1) RSH (2) SHR (3) SIR (4) SHT

40. Find the mirror image of the question figure from the given options.

Question Figure: Answer Figures:
NN o F 7
3&9@ Pl 6 @5 goﬁﬁ ;@@
(1) (2) 3) 4)

SPACE FOR ROUGH WORK
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37.  ua suglazi:
A +
L]
0w i x—an @
Vv
* N
Griz suglazii:
X
S ANy ANE . +| |+ -
; : A
(1) (2) (3) (4)
38. 963 : 144 :: 842 : 7 (ol Y5 UM e $3U.)
(1) 64 (2) 78 (3) 112 (4) 50
39. LOH : PMT :: ITJ : ?
(1) RSH (2) SHR (3) SIR (4) SHT

40. el uzsusladl viedlHl (edoml) ulaHt vai suglauidl o

A sugla:

N\,

AR

0

Brz suglawii:

L&4L.

¥

(1)

/

e

Y
(2)

Gof

s5d S1AL 514 W2
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oo Q. 41 and Q. 42 Direction:

S Find the water image of the question figure from the given options.

o oS 41. Question Figure: Answer Figures:

O TAT

’DQL
O TAC

)DQL

> oo J/Zi,) ”:><:%;7? =2
?@ RND| [N I @9’

() 2) (3) @)

42.  Question Figure:

Answer Figures:

PN
i€

@@ 3%

2) 3) 4

SPACE FOR ROUGH WORK
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U, 41 i 42 HIZ YAl

wudl uztglad wele ulalbior sajadl i wakil 2usla ude s

41.  ua sugla:

&

42.  wa sugla:

o7

Gz suglaii:

Gz suglaii:

&

ARND

5 7

(1)

2) 3)

fg@f

4

s

e

S 1A

(1

2)

€)

(4)

s5d S1AL 514 W2
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Q. 43 to Q. 45 Direction:

43.

44.

45.

46.

Observe the following pyramid. Study the arrangement of numbers and find
the correct alternative to replace the question mark.

13
41 52
11 26 29
48 50 14 18
31 27 49 33 15
21 58 34 28 36 16
17 20 24 30 35 32 19
25 10 37 43 23 39 56 60

50485827 : 14183633 :: 26112750 : 2
(1) 29264914 (2) 26293349 (3) 26293314 (4) 26294933

31175834 : 15193628 :: 21252024 : ? (Select 2 correct alternatives.)
(1) 36563530 (2) 16603235 (3) 16603236 (4) 36563528

41503448 : 52142818 :: ? : 29333515
(1) 11272431 (2) 11272449 (3) 11272458 (4) 11272434

The ratio of the ages of Sameer, Raghav and Aamir today is 7 : 5 : 3. Sameer
is older than Aamir by 12 years, then what is the present age of Raghav ?

(1) 12 yrs. (2) 21 yrs. (3) 9 yrs. (4) 15 yrs.

SPACE FOR ROUGH WORK
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PQRST

U. 43 4l 45 W2 Yad:

43.

44.

45.

46.

-~

wudl MRl [@Rlagr s< visidl olsanll uwrdl usREdl zad 2UAdAR]L i
Wi e s

13
41 52
11 26 29
43 50 14 18
31 27 49 33 15
21 58 34 28 36 16
17 20 24 30 35 32 19
25 10 37 43 23 39 56 60
50485827 : 14183633 :: 26112750 : ?
(1) 29264914 (2) 26293349 (3) 26293314 (4) 26294933
31175834 : 15193628 :: 21252024 : 7 (o »iyYs Ul e $3U.)
(1) 36563530 (2) 16603235 (3) 16603236 (4) 36563528
41503448 : 52142818 :: 7 : 29333515

(1) 11272431 (2) 11272449 (3) 11272458 (4) 11272434

wilz, w89 id HRAL 2ol Gl olTR wdsH 7:5:3 9. wdlk wHk

-~

2l 12 ad w2l 9, dl uaadl visvdl Glw dedl?

(1) 12 ay (2) 21 ad (3) 9 ad (4) 15 ad
55 51 51l W2
0422-Gujarati Set-A 17 of 32 P.T.O.
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SRS A 47. Below given four cubes are showing the different faces of the same cube.

%;g There are numbers from 1 to 6 written on its surfaces. Find the incorrect pair

) .
S X of numbers on the adjacent faces.

ook 6 4 1 3

(1) 2 and 4 (2) 6 and 1 (3) 2 and 5 (4) 5 and 3

48. Two statements and two inferences are given below. Read them and select the
correct alternative. (Select 2 correct alternatives.)

Statements: 1) All pens are copies.
2) Few books are pens.
Inferences: A) Few books are copies.
B) Few copies are not books.
(1) A is incorrect (2) B is correct
(3) A is correct (4) B is incorrect

49. Choose the correct option to replace the question mark.

6 5 8 11

(1) 225 2) 251 (3) 275 4) 224

SPACE FOR ROUGH WORK
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N

47.  udl vuglasi viser addl [@Al@a yrel aid 9. o/l Gur 1 4l 6 sl quidi
9. dl UMAMAL Ybs U iddl sisidl oadlHiEl 55 oadl vl 97

6 4 1 3

48.  dlA o [l e ol wdqHIA AL 9. auiEl Uit yul ue s
(ol »135 vl ude sU.)

[t -

(1) ooy ud icops . (2) 52dls yds Ud 99,

ViUl -

(A) 52415 Yds l2ols €. (B) s2dls i2os yads <l

(1) ‘A" 214 (2) ‘B> 4 (3) ‘A’ Ucu (4) B> 2Ucu

U. 49 Bid 50 HIZ YAl
pudl ousael wiavil uaREdl svaur v uioy waiy il

225 251 275 224

s5d S1AL 514 W2
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50. Find the number to replace the question mark after identifying the rule in
number arrangement. (Select 2 correct alternatives.)

3/27 3/8 5
V125 | ded | 9
V1331 | /512 | ?

(1) 56 2) 19 3) 18 (4) 57
51. How many triangles are there in the given figure?
(1) 26 (2) 25 3) 16 4) 20

Q. 52 to Q. 56 Direction:

In the given series find the correct term to replace the question mark.

52. 43, 31, 28, 12, 10, ?
(1) 10 2 9 3) 8 4 7

SPACE FOR ROUGH WORK
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50.
3/27 3/8 5

3125 | 364 | 9 ol 2135 udid bl

V1331 | 3/512 ?

(1) 56 (2) 19 (3) 18 (4) 57

51 »pudl suglaui sa sear [BsiaL 97

U. 52 4l 56 W2 YalL:
dl wlasml vaE Radl ovoul 2 2Uddl ugdl Wit ual «ssl SR

52. 43, 31, 28, 12, 10, ?

(1) 10 (2) 9 (3) 8 (4) 7

s5d S1AL 514 W2
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53. Question Figures:
" - O m
g A O ‘7
O O [ ) A
Answer Figures
N 0 [2] [Om
A
0 ® ® m ®
o O : ~
(D 3) 4
4. AAOO0 , DAOA |, «oAAOD ,
(1) OCOA-A (2 HODOAA« (B) OOAA () OAlAw
55. 1, 7, 34, 137, 410, 821, ?
(1) 1641 (2) 820 (3) 1230 (4) 1440
56. XBW, RGQ, LLK, ?
(1) FQD (2) ESF (3) FQE (4) GQE
57. From the given options pick the wrong term out.
125, 115, 103, 89, 74, 59, 40
(1) 103 2) 59 (3) 40 4) 74
58.

1, 85 9,4,5,8 5 9 1,5, 1,5,8,9, 5, 4

In the given number series, how many times preceding 5 square numbers and

succeeding 5 cube numbers have occured?

(1) 4 times (2) 2 times (3) 5 times (4) 3 times
SPACE FOR ROUGH WORK
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53.

54.

5S.

56.

57.

58.

A sugla:
m - O L]
® A 0 ‘7

Gz suglawii:

] O o m
o | ° O e m ©
® L] A o
(1) (2) (3) (4)

AA6OO |, DAOA , <AAOD

(1) OOA—A (2) OOCAA& (3) OOAA  (4) OAOA
1, 7, 34, 137, 410, 821, ?

(1) 1641 (2) 820 (3) 1230 (4) 1440
XBW, RGQ, LLK, ?
(1) FQD (2) ESF (3) FQE (4) GQE

el HilAsME i ue uuikimigl il
125, 115, 103, 89, 74, 59, 40
(1) 103 (2) 59 (3) 40 (4) 74

1, 8 5,9, 4, 5,8,5, 9 1, 5,1, 5, 8, 9, 5, 4

Guzedl isHifasimi Sl 2000 ygiadl dval vid ugo Yol ad wval 4l
¢l dd sedl ar wy 97

(1) 4 (2) 2 (3) 5 (4) 3

s5d S1AL 514 W2
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O ok 59. Form a meaningful idiom from the letters
° % given in the figure and find its meaning T |L
O from the given options. C E

O OAC (1) Very rarely (2) Becoming nervous F
o e (3) Feeling il (4) An ecasy task E|D

O TAT

’DQL
O TAC

:‘33{ 60. If the given alphabet series is written by reversing the order of letters, eighth
oo letter to the left of the middle letter will be at what place from left side?

b oS (D) 21st ) 20th (3) 5th 4) 6th

O GAC

61. In the word ‘INCOMPREHENSIBILITIES’, how many times the letter ‘I’ has
occured?
D 5 2) 6 3) 4 G

62. From the given alphabet series, from each group only 15t 3™ and 5t letters

are written and a new series is formed, then in that series which pair of letters
will occur at the same distance from the letter P.

(1) JW 2) MW (3) FY (4) HW

Q. 63 to Q. 65 Direction:
In the following rhythmic series which set will replace the question mark.
Observe the pattern and choose the correct alternatives.

63. ?LY?LLL?2ZL2LYZ?2LL
() LLZYL (@ LLYZL @3 LZLYL & LZYLL

64. 678285824523422321
(1) 7543 2) 3457 (3) 7453 4 4573

65. OAXO+k0O 2 AO+AO 200 2 A+
(H + 0% 2) O+ x 3 O+ 0O 4 %00

SPACE FOR ROUGH WORK
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59.

60.

61.

62.

o Al 2RIl oddl 3RuAPIAL 1 vl
“ yiuHigl il
3) 2l o N .
(1) 24 aq (2) sél séld asl ovg
) : : .
” dl (3) vo s2u00l orq (4) e85 org

wiudl v viEaRHIod Wl B Ga sHAl duidl a4l wiardl sl
ollogell w18z, slofl ollogell 3ol suis ¢?

(1) 213 (2) 204 (3) S (4) 651
“MegilA uloil Aedlnial cdlar ygiawll dicoys wer 512l
MERL sedl 97

(1) 8 (2) 4 (3) s (4) 7

wiudl iAW vERUIUAL €25 uHeHiEl g 1dl, 304, SHL wER d o sH

auil «dl ERHI odldl dl dHi P’ wiardl old olioyBl ARvIL BidR 244l
waRiedl oadl 557

(1) Tw (2) MW (3) FY (4) HW

DI AlsdMl W SRIed

U. 63 4l 65 W2 YadlL:

63.

64.

65.

pUdl quertt HisRlHl ucidl 51 tdaul af ud Riadl ol wladir gl
U vuluuigl il

?7s5da?sss?2as5 ?7sada?ss

(1) saasds (2) ssdas (3) sdass (4) sadss
6787858245234 27?22321
(1) 7543 (2) 3457 (3) 7453 (4) 4573
OAkO+kO ? AO+AO * k0O ? A+
() + 0% 2 O+ * 3) O+ 0O 4 %00

s5d S1AL 514 W2
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oo Q. 66 to Q. 70 Direction:

%;g From the given options pick the odd term out.
\*2
:ggg 66. (1) Agartala (2) Aizwal (3) Imphal (4) Sikkim
40
bk 6,
gg ® X + +
0% O A O A
0 TUa| %] (@ a\C] [O] X |9\ ®
O TR
O + ® X
(1) (2) 3) 4)
68. (1) 100 2) 252 3) 392 4) 576
69. 5 6 7 8
D g3 @) 571 ) »g @ 35
70. (1) CWF 2) DVI 3) FTL 4) GSN

71.  Find the correct option to complete the question figure.

Question Figure: Answer Figures:

r B B F

(1) () 3) 4)

SPACE FOR ROUGH WORK
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U. 66 4l 70 W2 YAl
UYCHI 21A vul g sl
66. (1) wPRA4l (2) 2iRid (3) ga (4) (sl
67.
o X
A A
+| " ® o] |o| A% |o ®
O + ®
(1) (2) (3) (4)
68. (1) 100 (2) 252 (3) 392 (4) 576
69. 5 6 71 8
(1) 15 () 21 (3) 28 30
70. (1) CWF (2) DVI (3) FTL (4) GSN
71 2uudl uzsisla yol sal 2o dlod waid il

un sugla:

Bz suglawii:

[

[

(1) (2) (3) (4)
s5d S1AL 514 W2
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O CAC

’OQ[
O TAC

’DQ[

ABCDE FGHIIJ KLMNO PQRST

UVWXY

Q. 72 and Q. 73 Direction:

Find exactly the same figure that matches with the question figure from the

options.
72.  Question Figure:

P

7

X

Answer Figures:

|| 5

| [T

) X

P

7

)

X

7

P

(1) (2) (3) )
73.  Question Figure:
[ 1
Answer Figures:
T [ [] —

SPACE FOR ROUGH WORK
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U. 72 Bid 73 HIZ YAeL:

wiudl usiigla Al oRior HAdl 204 ddl wuiRll Gaz 2usld al
72.

73.

s sugla:

a3

o

X

Gz uglawii:

~

&l

u sugla:

Gz suglaii:

(3)

s5d S1AL 514 W2

0422-Gujarati Set-A

29 of 32

P.T.O.



joYo\V/d

O OAC

>OQL
O TAC

)DQL

ABCDE FGHIIJ KLMNO PQRST UVWXY

74. In the given question figure, a paper after folding is cut as shaded part shown.
How will it look from the given answer figures after unfolding?
Question Figure:

Answer Figures :

H EH A A H BN

H B V|V H B
() 2) (3) @)

75.  From the alternatives, find the figure which is hidden in the question figure.
Question Figure:

Answer Figures:

(1 2) 3) (4)

SPACE FOR ROUGH WORK
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74. w4l us vuslamidar spadl adl s owrilsa cEmiEl siudl w4 viidal q

569 waidl 2asld ovdl gongl?
A sugla:

H H A A B

B N v v N

o lloll

(1) (2) (3)

75. w2 uslami guEdl sugla vl waikauidl il

g sugla:

Gz suglawii:

-~

s5d S1AL 514 W2
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0 oV
O O

)OUV

POV

O QYL
O CAC

’DQ[

o TAC
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